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Relative Distribution of Diameter of Measure Trees*, volume (CuFt/ac) and TPA (trees per acre)

stand(s): 42125
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Relative Distribution of Diameter of Measure Trees*, volume (CuFt/ac) and TPA (trees per acre)

stand(s): 42125007
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Relative Distribution of Diameter of Measure Trees*, volume (CuFt/ac) and TPA (trees per acre)

stand(s): 42125035

e e o W ez oz s WS AT A6 0 200 W2 W2 T2 T2 2626 2426 W wow w0
e ol W w B N o N N N ™ v ™

sugar vaple s

redvapie a5 e ma os o

Quabing spen 55 2 s s 1s

sigooth spen s s os

sssam e PRER 2 es 14 om0

ke spruce ws 28 me s .

sacksprce nms st

it e s 3 me a7 s 12 o6

sscksine s

siackcrary





image1.png




